2022 Homework 4 Results (updated to GL Version)

VOCABULARY The Koh-i-Noor CLOZE Capital Letters Adding Decimals Divide by 10, 100, 1000
1) G 11)B 22)F 32)B 46) 30.83 58) 0.2867
2) | 12)C 23)8 33)C 47) 32.75 59) 0.05742
3) F 13)D 24)D 34)C 48) 150.53 60) 7.778
4) A 14)C 25)E 35)B 49) 66.81 61)5.028
5 D 15)A 26) | Its or it’s Subtracting Decimals Multiply Decimals
6) H 16) D 27)G 36) A 50) 21.14 62) 23.598
7) My Father’s House 28)L 37)8 51) 878.57 63) 67.8307
8) C 17)D 29)K 38)8 52) 22.06 Divide Decimals
9) B 18)C 30) H 39)B 53)2.3 64)6412.9
10)E 19)C 31)) 40) B Multiply by 10, 100, 1000 65) 5050.2
20)C Spelling 54) 51620.00 Compare Decimals
21)D 41) according 55) 403.90 66) <
42) available 56) 30740.00 67) <
43) recognise 57) 4013.00 68) >
44) foreign 69) >

45) especially



Nearest tenth NVR 1 VR Hidden Word

70)3.5 84) D 97) heart

71)7.7 85) B 98) hero

72)3.8 86) B 99) game

73) 4.6 87)C 100) vent
2 Decimal Places NVR 2

74) 9.83 88) C

75)9.32 89) C

76)9.35 90) E

77) 1.45

Cecmats | MUR3

78)B 91) B

79) A 92) A

80) C 93)D

81) A NVR 4

82)B 94) D

83)B 95)D

96) B



OPTIONAL ANSWERS
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104.
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107.

108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

C

Joan Smith and Michael Murphy are cousins.

Mary and John Brown are my friends in school.

Mrs Singh met Mrs Prasad.

The Duke of Albany was a very rich man.
We saw Uncle Tom’s new car.

The lecture was given by Professor Makutsi.
It's, its

It’s

Its, its

It's, its

it’s, it’s

sincerely

awkward
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123.
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130.

131.

132,

133.

134,

vegetable
144.08

141.89
18.5

49.7
333.50
711.10
12760
536.20
0.02448
6.922
0.2343
0.08932
21.42
19.76
18.91

23.92
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151.

30.7328

33.3799

36.58

169.76

105.52

5097.4
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2.1

7.4

8.37

8.31

0.5
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0.2

0.667

0.333
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169.
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171.

172.
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176.

177.

term
rope
test
show
drip
desk



NVR Analogy Homework Answers

1. D - A |arge white rectongie becomes o lorge black rectongle so o lurges white

peragon must become o lorge bloack pentagon. (A& pentogon e 2-D shape
gtk frue sleles) No romotians hove token ploce

1. B - A large block heart hecernes b large white heart 10 o loroe black clubs must
becorme o lirge whnde club Mo rototions hove taken place

3. B - The =etond pxtire i the some os the first picture bt srollesr, B & the somes of
tie thvdrdd picture bat s lles

i € 5 wMle (et homd hecomies 8 block right hdred, so o walwte el Tt becoimeas a
odk naht feor

. R O bk orrow paodnteng nght hos rototed 40% clockwise t6 become o white
orrowy R NG down; 50 0 Block curved arrow pointirng fght rowsl rotole 90°
lathosise fo betome o vwhite curved orroye Dond 19 YT

6. E —A while =ght-sided actogon holves sts numiber of sickes and chonges colowr 1o
becoire o blotk tour seled sguare, so g white six-sidod hexogon musl holve its

ey und bEcorme 0 binck ree-sided Langle

The |mie s seflected ond Ioses one of the vertical lines
The image & reflected

Hie e rotmtes S0P cioe byt

he larger shope horormes soquashed ond turng biack The certre thape

-
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FETTICRTS BN LT
5 D i B Top el horel shope swiose calour with the iome shape el and
ERECETH slected within the: large shepe. The 1op rigit-hand shooe dsoppears

The in age roimtes 20 tlockwss, the black ond white halves swoo over on

o)
L~

the olock orclE moves 1o ohoee the migin ITH

— The imace hos ey rellactzd i o eertical mirroe line

= T rrage hoy been rotoled 1LY anticockwisa

The thack lines fioee became thin and the thin lres Hove become thick

The large shape bas heen refliected in o herzantel mirror lineg olong wath the
el bett-hand shope. which hos chonged fram white 1o blaek. The crnall right -
nand shape hos emainad o the 2ame pasition But has been refiected in a
hiewteontal mirroe e ond chonged from Bock towhite

[he shepes fit togethers 1o creals o rectongin nnd hove the seme diccction of

Fwp
oop@m

W
-

6. B - The imoge hos been rototed | B0F

—
[]

L —Tha maoge hos been rolated [ED
D - The image s Been reflected @ ¢ verticol mirror Une, an estro e hos been
ooduod to the arrvow and the centrol shape hes becoma whits

P

2 A -The jabried. L arrowt ok besn reflacing Ina wertical mireoe Line. the (o
RS airmaves howve been refiected mo honzaemtal rmarmror iime ang the: block and
hite shopes Anwve stoged the same, hetween the wider spoced [nes/arrows
e, A - The laijout of the pcture stoys the some. but white shapes hove becorme grey
aredw shofees hoee herome black ard hleck shopes hove become white

5. E T.Flri OFTGLUs |':“-' =f I1I"i_.":l|ll: 91 e li#4i T rRosst B 1MAe i i I_.II' Il.i..

6. A - The shope becomes smaller and the triangle reflects in o horzental frarro! lire.



